8 7 6 5 ' 4 3 2 | !
REVISIONS
DRWN DATE CHK'D REV DESCRIPTION
CR 22APR15 A |PRELIMINARY RELEASE
FIXED NOTES, TITLE, VIEW
CR | 24APRIS B |cALLOUTS PER JC D
MOVED DATUM A, RELAXED SOME
CR | 29MAY 15 € |TOLERANCES, REVISED ITEM 5
DIMENSIONED AND TOLERANCED
CR 5JUN15 D  |CERTAIN SURFACES AND HOLES
IN POST WELDED STATE
PAGE 5, D4, ADDED 48 HOLES FOR
CR | 22MARI6 E  |REMOVAL OF KAYDON BEARINGS
CR 12MAY17 F %BEE\‘EOLES FOR ALIGNMENT
ITEM NO. PartNo DESCRIPTION QTY. c
1 KDM3100-1  |ROLLED OUTER DRUM PLATE 1
2 KDM3100-2 COUNTER WEIGHT MOUNT 2
3  DM3100-3 cut cougLFT\IRTWEleHT 1
4 KDM3100-4 SEISMIC RESTRAINT 1 -
5 «DM3100-5 | PEFINING PFE?_lANTTElNTERFACE 3
6 KDM-3100-6 ROLLER SUPPORT 4
7 KDM3100-7 REINFORCING RIB C 3
B
8 KDM3100-8 REINFORCING RIB B 2
9 KDM3100-9 REINFORCING RIB A 1
10  DM3100-10 INNER DI\I}BJIL\J/INI?I_OSITION 1
11 KDM3100-11 CHAIN DRIVE MOUNT 1
12 KDM3100-12  |INNER DRUM SERVO MOUNT 1
13 kDM3100-13 | /NNER DRL'iI\IfIAngIEERQ/O MOUNT 2
NOTES:
1. GEOMETRIC TOLERANCES AND DIMENSIONS PER ASME Y14.5-2009 15 872-LM2218 OUTER DRUMJIG 2
2. ASTM A36 STEEL OR EQUIVALENT
3. STRESS RELIEVE AFTER WELDING AND BEFORE MACHINING, EXCEPT ITEM 5, WELDING ITEM 5 WILL BE AFTER FIT TO TELESCOPE. ITEM 5 IS A
SEPARATE PART THAT SHOULD BE FABRICATED AND FASTENED INTO PLACE WITH SCREWS AND MEET TOLERANCES SHOWN ON PAGE 3, IT 16 872-LM8215 JACKING SCREW, .535-40 1 A
WILL BE WELDED INTO PLACE AFTER FIT TO TELESCOPE
4. PAINT WITH AMERCOAT 385 BLACK RESIN AND AMERCOAT 385 CURE MIX 50/50 BY VOLUME, FOR DETAILS REFER TO UCO LICK DOCUMENT oA F
D0938 PROVIDED BY UCO/LICK THREE STEP PROCESS, 1)WELD, ANNEAL AND PAINT, 2)FIT TO TELEESCOPE (1-2 MONTHS DURATION),3)WELD e e Aes i AE CHEgE.DRATLIFF KECK 1 DEPLOYABLE TERTIARY MIRROR
ITEM 5 AND MACHINE PRECISION SURFACES LAST
5. ITEMS 2, 3, 5, 6, 10, AND 11 CAN START THICKER THAN THE NOMINAL THICKNESS DIMENSIONS AND MACHINED AFTER WELDING TO XX 201000 XX 200100 7! JC, BR, JW, TW OUTER DRUM/DEFINING POINTS
TOLERANCES SPECIFIED IN THIS DRAWING 00 200050"  X0000G 00001 . C CR 41715 | ¢
6. FLATNESS APPLIES TO 120MM WIDE AREA BETWEEN STIFFENING RIBS BN AL P LR & NS 005 Thax OUTER DRUM MACHINED WELDMENT
7. STIFFENING RIBS TO BE WELDED ALONG THEIR FULL LENGTH
8. ITEMS 2, 3 AND 10 TO BE WELDED TO ITEMSL1, 7, 8 AND 9 WITH 3-5 MM FILLET WELDS AT ALL INTERFACES LI C K SWDOCUMENT —[oomvmire FROTECTGODE TG jé
_—— FILE K1D3FD
SEE NOTE 2 - OBSERVATORY OUTER DRUM 1 e 872-LM3100
WELDMENT KoMS000 11
i | |
8 7 6 5 4 3 2 1



625

//|.25|D

6X @ 57 20
M6X1.0 - 6H T 7.9
40 — [ ]2]D
A
1 / 90.9
¢ /.25 A
0— 0
9.4

(20.3°+.1°)

AN

ALV

N\~ /
N

»1371B.C.)
1293.5 B.C. o o — o I~~~ I~ I~
P ) o R Y QU
<t (@)} <t ©
— Lo O O O
4]
»——D
/@ 4|
g o g KECK 1 DEPLOYABLE TERTIARY MIRROR
l:if-:! ij-‘,! OUTER DRUM/DEFINING POINTS
> SEE NEXT PAGE FOR DETAIL VIEWS > OUTER DRUM MACHINED WELDMENT
© USE BASELINES DEFINED ON THIS PAGE © e -
K1D3FD
SCALE 1 : 4 NExrAssl\r(DM3000 872 LM3100 211

8 7 6 5 ' 4 ! 3 2 ! 1



374

432.8+0.3

2X @ 9.5 THRU ALL

2X @ 10.3 THRU ALL

<

472.4+0.3
528

DETAIL F
SCALE1:4

613.2+0.3
633.9+0.3
662.1+0.3

DETAIL G
SCALE1:4

128.4+0.3

— 177.4+0.3
205.7+0.3

o o S a
% M o ™ T
< ®© o o o ~
: ¥l FH ¥ < ©
3 2 ~ Y X X g

5|/ N o —
] 48.7+0.3 662.1+0.3 —
\ 45.5+0.3 633.9+0.3
H—
[ 4 ) 20.1+0.3  613.2+0.3 428.2+0.3
17+0.3
484.7+0.3
5, DETAIL D DETAIL E
: SCALE1:4
DETAIL C SCALE1:4
SCALE1:4
11X $12 THRU

o
L)

o

o

|
[ o1 ]

i

G o R
==
T

SECTION A-A
SCALE1:8

KECK 1 DEPLOYABLE TERTIARY MIRROR
OUTER DRUM/DEFINING POINTS

TITLE

OUTER DRUM MACHINED WELDMENT

PROJECT CODE DWG NO

KID¥D_ | 875 ) M3100 W

KDM3000 11

i I
5 4 3 2 1



8 7 6 5 . 4 3 | 2 1

12X @ 5 THRU ALL
M6X1.0 - 6H THRU ALL —— H

625+0.4
5/
4% @ — — é%
N——— = .. s i
5, ) =
N/ "= = - )
120.00°+.05° \O}
5,
DETAIL J ~
SCALE 1:4
TYPICAL FOR ITEMS 5, 7, 1
8 AND 9, SEE NOTES ~H
9.4 —
1| _ - _ el
i — /T I
/ © )
\ (o] q
120.00°+.05°
I \
\ 75.0°] 100.3 — iR
. ' 7 \>
625+0.4 y
T
N
° o c é\_//;
. ° S ogL“ = D
/I—:\\ B L.
/ ) - o0 ©
0 R

o — N~ M i~ NN~ N~
60 ) < IR W W
<t [9V] [ee] o)} <t © 0
— Lo oL O O O
o 6X @ 5V 20
- 15.0 M6X1.0-6H V¥ 7.9 =
DETAIL | J— 2|D KECK 1 DEPLOYABLE TERTIARY MIRROR
SCALE 1: 4 _ OUTER DRUM/DEFINING POINTS
SECTION H-H TYPICAL FOR ITEM 6 OUTER DRUM MACHINED WELDMENT
SCALE 1:8
KIS0 | 870 | MB100
KDM3000 11

8 7 6 5 1 4 3 2 | !



8 7 6 5 . 4 3 2 1
8
TTelos S ve o 5|/SEENOTE9,\ .
MNOO MS o (@)} o m
96X @ 3.3 7 20
s ‘ : 5 M4X0.7 - 6H ¥ 15 p1212
32/ ¥ | _ /\L ::<:>8:” | \ ><= l
i T e
7 = I
@ \\\ // \\ 0
~—— | |.05|C Va AN K
D &5, (7 N
| |clos —/7|.05 Y 4 A\
$1218%399 // \\
©1205+1 LY .05 o // \\
o // B T . \\
[l \ - |\
p121879:0° [ T
17~ N - - "
©l.058 @ o o QD @ 1205+1 \ |
$1240"% \\ l
Q <> T \\ //
N
] A\ V4
= [==] . s S %:t___/,——/j /o
o o = / i 5
— K
S S| 5| 30+0.05
- 5\7 5\7 2 5|/
o
5| KECK 1 DEPLOYABLE TERTIARY MIRROR
OUTER DRUM/DEFINING POINTS
SECTION K-K DETAIL M 5|/ TTTTT OUTER DRUM MACHINED WELDMENT
SCALE1:8 SCALE 1:4 5| oAl fita e -
5| K1D3FD 872-LM3100 3

NEXT ASSY
KDM3000 1]

I
1



657

536

419

359
329

121

3876

FLAT PATTERN SHOWN HERE ONLY INCLUDES
LIGHTWEIGHTING FEATURES OF ROLLED PLATE. THE
POSITION TOLERANCE FOR THESE CUTOUTS CAN BE
+/- 0.75 MM.

ADDITIONAL CUTOUTS FOR TIGHTER TOLERANCE
ITEMS, SUCH AS ITEMS 2 AND OTHERS ARE NOT
SHOWN. FABRICATOR CAN CUT CLEARANCE HOLES
FOR THESE TIGHTER TOLERANCE ITEMS AS DEEMED
APPROPRIATE.

AL an an AN
NPT, NPILNP, NP,
// \\ :/ \\ // \\ // \\ :/ \\ // \\ // \\ 1/ \\ :/ ( \ / \ / \
NPANEPIN ALY PILN PIINPILND,
™ T NS TN TN
NP NP SR NPV ANV, NPANP,
R10TYP @ 5200 TP J

KECK 1 DEPLOYABLE TERTIARY MIRROR

OUTER DRUM/DEFINING POINTS

TITLE

PROJI

OUTER DRUM MACHINED WELDMENT

EEEEEEE

K1D3FD

EXT ASSY
KDM3000

DWG

" 872-LM3100

F

6

1]

1



0 0
- o n o -
o © 0 o N © o
0 | R S 9.2
5 | 16.2
—

D11 TYP

19.4 \ / . \
N 0
172.2° 172.2°
N O ?6.6 TYP e

©101.6
| R615 592
VIEW 0-O = =
SCALE1:1.5 ¢ / ¢ —
| [{“—_
. 12X ¢ 5 THRU ALL K
R4 TYPICAL M6X1.0 - 6H THRU ALL 34 X 40 ]
o ~ ~ o
VIEW N-N ~ it 83 o | 3R 3 ~ ® 8.5 THRU ALL
SCALE1:15 | /71 M10X1.5 - 6H THRU ALL
4| F
7 = / \
4 A 4 R 4|
17.1 I g}
23.5 & & 9 W
29.8 SRS P == =
33 WA 22
48.9 L P~
50 / 4 )‘\)\_ @ 63.5
55.2 S A L afF
61.6 h I SECTION P-P
@ / . \ SCALE 1:4
) N ) ; \ N y CAN BE WELDED ON BOTH SIDES (3-5MM) OR MACHINED

78 J
85 .535-40 THRU

® 13.1 THRU ALL
9/16-18 UNF THRU ALL

KECK 1 DEPLOYABLE TERTIARY MIRROR
OUTER DRUM/DEFINING POINTS

OUTER DRUM MACHINED WELDMENT

OOOOOOOOOOO DWG

KID¥D_ | 875 ) M3100

SSY
KDM3000 11

8 7 6 5 1 4 3 2 | !



N

16

60
44.8
44.4
36
30
27
18
13
12

KECK 1 DEPLOYABLE TERTIARY MIRROR

OUTER DRUM/DEFINING POINTS

OUTER DRUM MACHINED WELDMENT

—12.7
O | WO NMO
R5 MAX TYP o ~ ~© oA 0 To} o) o
(o)) A <t VOO NN — Lo o
o Kol — (90] ™ NN <t < < Lo Lo N~
12.7 40
b B :
30
i ‘\ ) : t o Py 27
\ @ + :) [ww) 1w 18
3 13
N\ /f\ A\ \ X 12
R5 — \( S/ \ 2X @ 7 THRU ALL 0
o 25° (= _
Y 2X & 6.6 THRU O M8X1.0 - 6H THRU ALL
13 X 90°
VO 4X @ 5 THRU ALL
M6X1.0 - 6H THRU ALL
— 12.7
— L L OO ANMO
o O © N~ A M~ O oM A o) o) n o
o0 - ReNs | 33889 7 8 5 &
K ) k ) jﬁ R6.4 ‘ ‘ 45° ‘
\ %0 | | 25
\\ ,// @5 5 £ & —_—
A L s /“ : ‘\
7N i }
3/ /S 2X ® 6.6 THRU / 2X @ 7 THRU ALL
25° | N @ 13 X 90° M8X1.0 - 6H THRU ALL o
_ 25
10X @ 5 THRU ALL
M6X1.0 - 6H THRU ALL
2X @ 6.6 THRU
2X @ 7 THRU ALL " B 12.6 X 90° 10X & 5 THRU ALLRS MAX TYP
o5 MBXLO-6HTHRU ALL7 /7 M6X1.0 - 6H THRU ALL
o0 \ \
— @/ o g -\@J N 7
[ ¢ 1 : 7
| \ /
| o ( e
o (o) L0 Lo Lo Lo Lo L0 Lo
Q : Ty) — R6.4 — ) ) 0 10
~ X 0 O . 9 N — 20°-
© ™ m ™ o
g @
N (© o)
S o 127
m TITLE
© N
0 ™ —
g g 3 PROJECT CODE
™ K1D3FD

NEXT ASSY

KDM3000

DWG NO

872-LM3100

F

8

1]

1



—
— +| N
o] o o< ™
o ™ o

_—{12.7)

Z @

(50.8 —— N _
(54— AT \
76.2 \

(2X @ 10.3 THRU ALL
(2X @ 9.5 THRU ALL

S

20—
SECTION R-R
SCALE1:2
4X ¢ 8.5 THRU
M10X1.5 - 6H THRU
11
140 /
R 125
65 \\ ( _@_
|
50
|
0
Lo Lo o i L
o < 5 o
— 0 ~
DETAIL Q
SCALE 1:2

O
-

D

O

5(1.3)

I

KECK 1 DEPLOYABLE TERTIARY MIRROR

OUTER DRUM/DEFINING POINTS

OOOOOOOOOOO DWG

TITLE

OUTER DRUM MACHINED WELDMENT

K1D3FD
EXT ASSY
KDM3000

" 872-LM3100

F

9
1]

I
1



N

137+0.3

10
Mm m ™
o o o .
- + o
" n n o °¢)
©
8 88 =
0 \
A
(11.5) x>\\
23+0.3
0\
(51.5) Q
80.8+0.3 1
|
R620
|
|

(3x®12 THRU

10 | NN
saa = 2
— o
n  BHE 4 7
o & 38R 29
R10+0.5 — 0
D (11.5:0.3)
\ { 11.5%0.
42.4+0.3
| ff\ {
+ N —(51.5)
] 80.8+0.3
|
|
R620
|
|
|

ITEMS 2, 3, AND 10 CAN START THICKER THAN 10MM SO MATERIAL
CAN BE REMOVED TO ACHIEVED FLATNESS ON PAGE 5

30
75

80
110

o

ITEM 10 CAN BE A
WELDMENT OR
MACHINED FROM A
SINGLE PIECE OF
STEEL

KECK 1 DEPLOYABLE TERTIARY MIRROR

OUTER DRUM/DEFINING POINTS

OUTER DRUM MACHINED WELDMENT

'ROJECT CODE DWG NO F
K1D3FD

EXT ASSY 3 872'LM3100 10,
KDM3000 11

I
1



41.5+0.5

12

20
SECTION T-T
SCALE 1:2
— —
+ +
AL ML
[(eNToRN{ o <L O
4X ¢ 6.8 THRU T
M8X1.25 - 6H THRU ¥<
104.6+0.4 /
84.6 / D
34.6 ‘ o
Tl | |
14.6+0.4 \
0
DETAIL S
SCALE 1:2

ITEM 12 CAN START THICKER THAN 20MM TO MEET POST MACHINED TOLERANCE

[

KECK 1 DEPLOYABLE TERTIARY MIRROR

OUTER DRUM/DEFINING POINTS

TITLE

OUTER DRUM MACHINED WELDMENT

OOOOOOOOOOO

K1D3FD
EXT ASSY
KDM3000

DWG

" 872-LM3100

1

F

1]

1



